https://lwww.leads4pass.com/510-033.html

L eads 4 PGSS 2024 Latest leads4pass 510-033 PDF and VCE dumps Download

510-033%4As

Sybase Replication Server Administrator Pro Exam

Pass Sybase 510-033 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.leads4pass.com/510-033.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Sybase
Official Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

510-033 Practice Test | 510-033 Study Guide | 510-033 Braindumps 1/3


https://www.leads4pass.com/510-033.html
https://www.leads4pass.com/510-033.html
https://www.leads4pass.com/510-033.html

https://lwww.leads4pass.com/510-033.html
2024 Latest leads4pass 510-033 PDF and VCE dumps Download

QUESTION 1

The searchable columns clause in a Replication Definition allows?

A. A RepAgent to filter rows going to the Replication Server.

B. A WHERE clause in a subscription to filter data being replicated.

C. The Replication Server to filter data going to other Replication Servers.

D. A WHERE clause in the Replication Definition to filter data being replicated.

Correct Answer: B

QUESTION 2

What must be TRUE for an ERSSD to be the source of a route? (Choose 2)

A. A RepAgent must be added to the interfaces file.

B. The default RepAgent name will be RSSDname_ra.

C. A direct route must exist to the ERSSD before it can be the source of the route.
D. The RepAgent must be configured for a route.

Correct Answer:. AB

QUESTION 3

Which of the following are TRUE about Automatic Warm Standby? (Choose 2)

A. Object and device names should match between Active and Standby databases.
B. Data Definition Languages cannot be replicated.

C. System tables are replicated between Active and Standby databases.

D. All tables in the database are marked for replication at once.

Correct Answer: AD

QUESTION 4
If you create your subscription without a materialization method, which of the following is correct?
A. Creation of subscription will fail

B. Materialization will fail
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C. Automatic Atomic Materialization will be chosen
D. Automatic Nonatomic Materialization will be chosen

Correct Answer: C

QUESTION 5

What is the meaning of severity code H in a Replication Server error message?
A. Site unavailable

B. Warning message

C. Informational message

D. Replication Server thread died

E. Internal error caused by the Replication Server

Correct Answer: D
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